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Phan chia véi bdi s6 cua muoi

Ho va Tén:

Giai cac cau hoi.

Cau tra loi

D 1.601:8= I
2) 720:80=__ 2
3) 486:6= 3
4) 54.000:9.000= 4
5 2.400:300=_ 5
6) 801 :40= 6
7 54.000:6.000= 7
8) 281:7= 8
9 12.000 : 6.000 = _ 9
10) 725:9= 10
1) 35000:7.000=_ 1
12) 20:20=_ 12
13) 801:40= 13
14) 6.000:3.000=_ 14
15) 3.504:5= 15
16) 81:8= 16
17) 72.003:9 = 17
18) 1.502:30= 18
19) 2.000:500=_ 19
200 14.000:7.000= 20
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Phan chia véi bdi s6 cua muoi

Ho va Tén: Loi gifli

Giai cac cau hoi.

D 1.601:8= 200 dul

Cau tra loi

. 200 dul
2) 720:80= 9 ) 9
3) 486:6= 80 dut . 80 du6
4) 54.000:9.000= 6 , 6
5) 2.400:300= 8 . 8
6) 801:40= 20dul 6. 20dul
7) 54.000:6.000= 9 , 9
8) 281:7= 40 dul s 40 dul
9 12.000:6.000= 2 . 2
10) 725:9= 80 du5 0. 80 dusS
1) 35.000:7.000= 5 . 5
12) 20:20= 1 12. 1
13) 801:40= 20dul 3. 20 dul
14) 6.000:3.000=_ 2 14. 2
15) 3504:5= 700 du4 5. 700 dud
16) 81:8= 10dul 6. 10 dul
17) 72.003 : 9 = 8000 du3 17. 8000 du3
18) 1502:30= 50 du2 5 50 du2
19) 2.000:500=__ 4 19. 4
200 14.000:7.000= 2 20. 2
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